LEVEL 1 —ALGEBRA

Note:  Omly turn back to page number if you have difficulty

Q1. Simplify each of these expressions by collecting like terms:
(a) Tm+6m+2m—3m (b) 3x+5x—2x + 6x
(c) Sab +2a+3ba—2ba (d) 522 +2a%2—-73a%+a?
() 1lm~5Sn-+6m+Tn ) dx+3y+6x—y
(g) 9xy —4yx + 5xy By 5x2 —4x—3x24 Tx
@) 3min +9m2 + 6nm

Simplify the following cxpr’essiégls\:

(2) 5% 3a () 6ab x3a  (c) xX4x (d) 16a+4
(e) da+2a () 2ax5%3a (g Y%b-=+3a (b)) BxX3xxX2
@ 272 +3x () 6xy=+2y k) Txxxx2 (1) 24mn+6m

. Simplify these products using index laws:

(@) B2x B> (b) 3x XxX4x (©) al x4ab

d) 594 x6y3xy2 () 3T x4 (f) 816 x 5p8

(&) 6x3x2x4%x3x5 () Im7x2mbxm® (i) 6abx4ba?

() 9xy X 3x2y2 &) 5%5 x 4y* (1) 9x X 3y x2x3y3

Simplify these divisions using index laws:

(a) %7+ x5 ®) 1564 +38 (©) 3a7+a  (d) 5w +md
(e) 866 =262 (£) 24a% +6a0 (g) 25ml0+5m7 (h) 12:8 + 6x3
@) 3x2+4° @) x5 +7x5 (&) 6y5+292 (D) 9B17 +2p5

Simplify these oxpressions using index laws:

o @) o) o
o o) @ o @)
o @) 0@ oY) o)
Rewrito the following expressions without grouping symbals:

(&) 5(x+2) '(b) 32a-5) (c) 6(dx-2) (@ 39 -4x) |
(€ 96 +7m) () Ga+8)7 (2 2y¢-3) (b) 10al4-3b)
@ 62a+3b) (G 10x-3y) & Sxx-1) {1 3m2n+ 6)

Q7. Complete the following by finding the missing HCE:

S (@ Sx+10=__ (x+2) D) dm+16=___ (m+4)
el o= ) Bx—2d=__ (x-3) (@) ¢2-2a=__ {(a—2)
- © ab—a=___ (b-1) @ 6m+8=__ (Bm+4)
@ Gx+x2=__ (6+x) ) dm—10=__ (Q2m-5)
@) 6a+15=__ (Qa+5)
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ol.
Q2.
3.

Q4.

Qs.

Q6.

Q7.

(&) 12m

(®) 12x
(£) 10x+2y (&) 10xy
(@) 15a ) 18¢%  (c) 42
(g) 3b (h) 48x* (D 9x
@5 O ) 4"
(&) 36x2 (1) 18#n® () 24’
(@) ) 5x ©) 3d°

3

@sw w2 @3
(@) x° () a* () 8m*
(g 9%  (m) m'> @) 1oxty
(a) 5x+ 10 ) 6a-15
(5 353a¢+56 (g) 2y*-6y .
() 5.2-5x () 6mn+ 18m
@S ®4 ©8 @a

(d) 5a°

{c) 6ab+2a
(h) 22% + 3% @ 9mn + 9m2
(d) 4a {e) 2 & 3002
M 3x &) 14z O 4n
@ 30y () 12x2  (® 40pM
G0 2727 (k) 2085 @) Sdxiy
(@ 5 (&) 4* (D 4
. 12
@2 @3 o
7 2
(@) 36x¢ (@) 25a¢ () §ix®
‘G) alDb!S (k) 27x15y27 (D mBDHEO
{c) 24x—12 (@ 27-12x
() 40a—30ab . () 12a+18b
®e ®2 ©x @2 -

(&) 17Tm+2n

©) 54 +63m
(G 10x- 30y

@ 3




